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EXAMPLE PROBLEM 3

Road User Costs in the Work Zone

Road Closure - Detour in Effect

A one-mile section of a two-lane coastal facility will be closed during a $15 million bridge replacement project.  The facility carries 22,000 vehicles per day of which 80% are passenger cars and 20% are trucks.  A 9.0 mile detour will be in effect until construction is completed.  It is estimated to take 100 days to complete construction.  The existing facility is posted at 50 mph and the average speed through the detour route is 35 mph.  The normal capacity of the existing facility is 2,400 vehicles per hour and the detour capacity is estimated at 1,900 vehicles per hour.  Compute the following:

A)
The road user costs incurred by the traffic traveling the detour for the project.

B)
The recommended Project Delivery Method based on the results of Part A.

ANSWER:

Part A)
The Calculated Road User Cost $61,432 per day.

The Total Road User Cost is $6,143,150 for the project.
Part B)
The Calculated Road User Cost (CRUC = $61,432/day) is greater than 4 times the Maximum Allowable Road User Cost (MARC = $5,000/day).  Therefore, based on Table 4.1 of this manual, an Incentive/ Disincentive project delivery method is recommended.  The daily I/D rate (0.25 x CRUC value) equals $15,400 when rounded to the nearest hundred dollars.  The maximum allowable daily I/D value is calculated as 0.1 times the $15 million project cost, or $15,000.  Therefore, an I/D value of $15,000/day should be used with a total accumulated maximum I/D payment of 5% of the project cost, or $750,000.
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